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b= mt (input("Enter b:")
r=a+h
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def addition (a, b):
returna +b

a = nt (input(" Enter a:")

b = mt (input("Enter b:")

c = addition (a. b)

pont(a, "+".b."=".¢)
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def mokaab(x):
return x**3
a= mokaab (int(input(*enter a number:")))
print(a)
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def isPerfect{n): nEY el
return{n = sumin)) T "
n=int(input("Enter n:")) w28~k
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if isPerfect(i) = True: ' ct
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def isSquare(n):

1=1
while i * 1 <=n:
if (i*i==n):
return True
i=i+1

return False
n = int(input(*'Enter n:""))
for iinrange(1, n + 1):
if isSquare(i) == True:
print(i, end = "\t")
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